4 %0 5 £ PR B IR BMA

HERKES MITHATHE K2 Hi5 HEAHE KL
Yoo | AR \ BALT B (AT (1-1))
BF/ 247k | BB R KB AL g
LFNRTYE | B
%%/ql/__ 'I‘E,Eﬁ((’\ZI‘ 8) [K?E_j: ﬁ’%ﬁ@ﬂ;*ﬁ” | {.\_‘1 (;’%ﬁ (2‘3))
ZFNL— | BK = *E AL WIS
k3 % BF 100m BkE 24 (E#(1-3))
BFVIMFZR 1@/:6& o * BEAEHIH
if"i;;)'“l(z'”“ﬂ e R g 00wy 24 (18 (1-3))
LFVIMT=2 B T *XBEAR LIS
853 -3
EHBT faRK [0 5 FERERT> T\
- B4 F e HERPZRREER EFE
BMABF 6 (=H(3-4)) X%
BALF B
HA&BF 4 X
1B A B F (90kg &)
BB (B (3-4)) %
ES1} 31 (BE(2-2)) *
BAZF (5kef) 3 L (P4t (3-4)) %
BEABTG0g®)3 I (B (3-4)) %
BALF EEHE CHA-1))X
s H& EEX .
BAS AL (FN(3-3)) %
| £8F 100m
| L (PEF(1-4)) %
10z (FE(1-3)) %
2FBF 100m 9 fiL (7K (2-3)) %
2F 200m 9 MI(RB(3-3)) X
2F8F 1500m |10 i GHE (2-3)) %
B b EZEETF 4xXI100mR 2 fiI ¥
(1 (2-2) B8 (2-4) - &£ (1-3) - 0B (1-4))
BF 4X100mR 6 i X
(A& (3-3) 113 (3-4) i (3-4) 18K (2-3))
B IRy 540 (B#(3-2)) %
L (B (3-1)) %
ZFREAET | AL (FHR(2-3)) %
2 fir (R/ £ (3-4)) 3%
BF 100m BAE | 4 (ER(1-3)) X%
Kok B3 200m k¥ | A CE2(1-3)) %
23 100m Bl 441 (14 (2-3) ) X%
23 200m A 3L (4 (2-3) ) X%
| EABF amGmn (-2)
INRIV b

BAZTF EE




